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[All questions are compulsory. Every question is written first in English and then in Bengali.

Answer (Ans:) is written there after where you have to write the answer. Calculator is not

allowed.] [Calculation sheets supplied by the centre must be attached with this answer paper]

Group – A 12 x 2 = 24

[Each question has four answers of which one is correct. Underline the correct answer. 1/2 mark will

be deducted for each wrong marking. Cancellation or over writing is not allowed]

1. If the number 7 4 M 0 N N 0 is divisible by 8 and 9, then M + N will be

7 4 M 0 N N 0 8 9 M + N 

(a) 11 (b) 13 (c) 5 (d) 7

2. The diagonal of a square is 6 cm. Its area (in cm2) is

6 

(a) 9 (b) 12 (c) 15 (d) 18

3. If  , then value of x is , x 

(a) 
18

17
(b) 

21

17
(c) 

13

17
(d) 

12

17

4. In the given figure, AB II CD, then BAF  is equal to

AB II CD BAF

(a) 1300 (b) 1000

(c) 800 (d) 600

5. When a number is divided by 121, the remainder is 25. If the same number is divided by 11, the

remainder will be

121 25 11 

(a) 3 (b) 4 (c) 6 (d) 25

6. A man sells a radio for Rs.700 and makes some profit. If he sells it for Rs.500 his loss is 
3

5
 of the

earlier profit. The cost price of the radio is

700 500 

3

5

(a) Rs. 575 (b) Rs. 600 (c) Rs. 625 (d) Rs. 650

7. If 15% of 40 is greater than 25% of a number by 2, then the number is

40 15%, 25% 2 

(a) 12 (b) 16 (c) 24 (d) 32
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8. If a : 5 = b : 7 = c : 8, then 
a b c

a

 
 is equal to

a : 5 = b : 7 = c : 8 
a b c

a

 

(a) 2 (b) 3 (c) 4 (d) 
1

4

9. The point which lies on y-axis is

y- 

(a) (3, 0) (b) (0, 8) (c) (5, 5) (d) (–3, 1)

10. Cube of 0.02 is

0.02 

(a) 0.8 (b) 0.08 (c) 0.0008 (d) 0.000008

11. The difference between the biggest and the smallest fraction among 
2 4 5
, ,

3 5 6
 and 

3

4
 is

2 4 5
, ,

3 5 6
 

3

4
 

(a) 
1

12
(b) 

1

20
(c) 

1

30
(d) 

1

6

12. If the LCM of three numbers is 9570, then their HCF will be

9570 

(a) 11 (b) 12 (c) 19 (d) 21

Group –  B
[Write the answer only at the proper place] 12 x 2 = 24

13. Simplify : 

1

2 2
2 0364 2 8
 

  
 

1

2 2
2 0364 2 8
 

  
 

Ans :

14. The length of a rectangle is 1cm more than its width. Its perimeter is 14 cm. Find the area of the

rectangle.

1 14 

Ans :

15. In ABC , 0
90A  , AD BC  and 0

45B  .

If AB = 4 cm, then find the value of AD.

ABC 0
90A  , AD BC 0

45B 

AB = 4 AD 

Ans :

16. The perimeter of one face of a cube is 20 cm. Find its volume.

20 

Ans :

17. If m + n + p = 0, then find the value of m2 + mn + n2.

m + n + p = 0 m2 + mn + n2 

Ans :

18. Factorise : x2 + xy + 8x + 8y

x2 + xy + 8x + 8y

Ans :

19. 14 men can do a piece of work in 39 days. How many men will do it in 26 days ?

14 39 26 

Ans :

C

A

D

B
450



20. Find the least number to be added with 6784 to make it as a square number.

6784 

Ans :

21. By how much 12 18  exceed 3 2  ?

3 2 12 18

Ans :

22. Convert 0.232323 .... into a fraction.

0.232323 ....

Ans :

23. Find the value of x.

x 

Ans :

24. Find the missing number.

Ans :

Group – C

[Important steps of calculation, Statements and proof whereever necessary are to be given]

3 x 4 = 12

25. The given pie-chart represents the monthly

expenditure of a student residing in a hostel. If he

spends Rs. 4500 on Houserent, then

(i) What is the total monthly expenditure ?

(ii) How much does he spend on food ?

4500 

(i) (ii) 

500

)
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800

5

11
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400

500
600



26. Find the unit digit of the expression 55725 + 735810 + 22853.

55725 + 735810 + 22853  

27. Find the area of the shaded region.
28 cm

28 cm 28 cm

20 cm


